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Candidates are required to give their answers in

their own words as far as practicable.

Answer questions from Module I, Module IT and
either Module III(A) OR Module III(B).

MODULE-I
(Marks : 50)

1. Answer any six questions: 1x6=6
@~ =1fb e Ted 7l

i)

The rates of income tax are mentioned in
[Fill in the Blanks]

o[ )

The residential status of an individual is

-Q GRS N | (HOTZI

determined on the Dbasis of the
[Fill in the Blanks]

[Turn over]
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iii)

Vi)

vii)

@ ToF Ffed wRIFE T e 0 = o=
Tofe | (HergH 2179 F9)

Name two payments for which deduction is

allowed under section 80C.
ufb sigamia T 39 1 80C A Q1Y |

State two incomes which are exempt from

Income Tax.

wib S R 1% Gl 4 |

Would income arising from transfer of
agricultural land situated in urban area be

agricultural income?

*Z(F SRES (Fl TN TBEA (A A =K
PR I A6 9lely 72

[llegal income is good income and is charged

to tax. [State true or false].
@B T - 8 o Fasy | (5 Al
wel)

'Pin money' received by wife for personal
expenses are treated as income in the hands
of the wife in the year in which it is received.

[State true or false].
A7 IfEare 49059 & e Pin money’, (3 =S
fofel ol (72 e o1t I3 fRTICa 91el) 51 = |
(o= =1 g=1)
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viii) Agricultural Income is not fully exempt from

Answer any six questions:

tax as it is aggregated with total income for
determination of the rate of taxation of non-

agricultural income.  [State true or false].

FRE 7o) S T 77 Il TR NS 9947
A0 @15 F00 & | (70 11 ge)

What is the full form of PAN?
PAN *=fo31 #Jca1l w(fG {52

An idol, or deity would be assessable in the

status of an .
[Fill in the Blanks]
S| I (7Y <ice el ey |
(<ElrZIeT 4l )
2x6=12

@@ JAB a4 Ted wie ¢

i)

For Assessment year 2017-18, tax rebate
under section 87A is limited to
from tax on total income. An Individual can
claim this rebate only if his/her total income

is less than .[Fill in the blanks].

ffiael = 2017-18-93 &, Q1 87A SR
e 2@ | @Fow e IF @B ST -9
F, O3 (A2 IR A0 ARE |

[3] [Turn over]
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ii)

iii)

State two difference between a ‘Person’ and
an ‘Assessee’ as defined in the income tax act
1961.

e ¢ i e 7o A< Tere 79 | (SR
Wiz 1961 weid)

Mr. Vatsan has transferred, through a duly
registered document, the income arising from
a godown to his son, without transferring the
godown. In whose hands will the rental income

from godown be charged?

A S e wfeleTa MO WviN (A A
R IR A TG IR | 92 SN oA 7
I3 2ice e 232

Income of a minor child suffering from any
disability of the nature specified in section
80U is -

a) to be assessed in the hands of the minor
child

b) to be clubbed with the income of that
parent whose total income, before
including minor’s income, is higher

c) completely exempt from tax

d) to be clubbed with the income of father
BCAET 2 (el |
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Vi)

Mr. Ramesh pays a rent of Rs.5,000 per month.
His total income is Rs.2,80,000 (i.e.Gross
Total Income as reduced by deductions under
Chapter VI-A except section 80GG). He is
also in receipt of HRA. He would be eligible

for a deduction under section 80GG of an

amount of -

a) Rs.60,000
b) Rs.32,000
c) Rs.70,000
d) Nil

BRG] & (T |

If Anirudh has stayed in India in the P.Y. 2016-
17 for 181 days and he is non-resident in 9
out of 10 years immediately preceding the
current previous year and he has stayed in India
for 365 days in all in the 4 years immediately
preceding the current previous year and 420
days in all in the 7 years immediately preceding
the current previous year, his residential status
for the A.Y. 2017-18 would be -

a) Resident and ordinarily resident
b)  Resident but not ordinarily resident

c) Non-resident

[5] [Turn over]
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vii)

viii)

d) Cannot be ascertained with the given

information
G 2 (el |

Interest on borrowed capital accrued upto the
end of the previous year prior to the year of

completion of construction is

a) allowed as a deduction in the year of

completion of construction

b) allowed in 5 equal annual instalments
from the year of completion of

construction

c) allowed in the respective year in which

the interest accrues
d) not allowed
B! @ (el |
Ganesh received Rs.60,000 from his friend on

the occasion of his birthday.
a) The entire amount of Rs.60,000 is

taxable.
b) Rs.50,000 is taxable,
c) The entire amount is exempt.
d) Rs.10,000 is taxable
B! @ (el |
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ix) Section 115 BB of the Income Tax Act 1961

Answer any two questions:

provides that income by way of winnings from

lotteries would be taxed at a flat rate of

plus . [Fill in the Blanks]
R O3 S5Y3-F 115 BB 41 S s61K19
(A0 A IAEF 899 K]

A 9 4 T4 W |

Every year, the Finance Minister of the
Government of India introduces the

in the Parliament’s Budget Session. When it
is passed by both the houses of the Parliament
and gets the assent of the President, it

becomes the . [Fill in the Blanks]

oS A2, SIS LT, A AT AL
Togiol I | (I SARTIS 9jfze 2=
GR AGeTeT TS (ol 23|

6x2=12

@-(FIe g5 2o Teg wie ¢

i)

Mr. Mithun purchased 100 shares of M/s
Goodmoney Co. Ltd. on 01-04-2005 at rate
of Rs.1,000 per share in public issue of the
company by paying securities transaction tax.
Company allotted bonus shares in the ratio of
1:1 on 01.12.2015. He has also received

[7] [Turn over]

10(C)

dividend of Rs.10 per share on 01.05.2016.
He has sold all the shares on 01.10.2016 at
the rate of Rs.4,000 per share through a
recognized stock exchange and paid brokerage
of 1% and securities transaction tax of 0.02%
to celebrate his 75" birthday. The cost

inflation Index are as follows:

Financial Year Cost Inflation Index

2005-06 497
2016-17 1125
3G e (el |

Examine under which heads the following

incomes are taxable:

a) Rental income in case property held as

stock-in-trade for 3 years

b) Dividend on shares in case of a dealer in

shares

c) Salary received by a partner from his

partnership Firm
d) Rental income of machinery

e) Winnings from lotteries by a person

having the same as business activity

[8]
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iif)

f)  Salaries payable to a Member of

Parliament
3G & (el |

Smt. Rajalakshmi owns a house property at
Adyar in Chennai. The municipal value of the
property is Rs.5,00,000, fair rent is
Rs.4,20,000 and standard rent as per Rent
Control Act is Rs.4,80,000. The property was
let-out for Rs.50,000 p.m. upto December
2016. Thereafter, the tenant vacated the
property and Smt. Rajalakshmi used the house
for self-occupation. Rent for the months of
November and December 2017 could not be
realised in spite of the owner’s efforts. All the
conditions prescribed under Rule 4 are
satisfied. She paid municipal taxes @12%
during the year. She had paid interest of
Rs.25,000 during the year for amount
borrowed for repairs for the house property.
Compute her income from house property for
the A.Y. 2017-18.

BRRG! @ (eAl|
Mr, Ravi retired on 15.6.2017 after

completion of 26 years 8 months of service
and received gratuity of Rs.6,00,000. At the

[9] [Turn over]
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Answer any two questions:

time of retirement, his salary was:
Basic Salary: Rs.5,000 p.m.
Dearness Allowance: Rs.3,000 p.m. (60% of

which is for retirement benefits)

Commission: 1% of turnover (turnover in the
last 12 months was Rs.12,00,000)

Bonus: Rs.12,000 p.a.
Compute his taxable gratuity assuming:

a) He is non-government employee and
covered by the Payment of Gratuity Act
1972.

b) Heisnon-government employee and not
covered by Payment of Gratuity Act
1972.

c) He is a Government employee.
RGN & e |
10x2=20

@I g e Ted wie ¢

i)

Mr. Rajan, aged 54years, engaged in a business
as sole proprietor. He is resident and
ordinarily resident for the previous year 2016-
17. The Profit & Loss A/c for the year ending
31-03-2017 is given below:

[10]



Particulars Rs. Particulars Rs.
Salary 36,000 | Gross Profit 5,60,900
Fire Insurance 28,500 | Interest on
Income-tax 30,000 Debentures 6,750
Sundry Expenses 56,000 | Cash Gift 51,000
Advertisement 36,000
Household expenses 50,000
Depreciation 29,800
Contribution to 11T Mumbai
for an approved scientific
research programme 1,00,000
Municipal Taxes paid for
House Property 36,000
Investment in NSC 10,000
Printing & Stationery 12,000
Interest 24,000
Rent paid 60,000
Net Profit 1,10,350
6,18,650 6,18,650

10(C)

Mr. Rajan also furnishes the following
additional information:

a)  Cash gift was received on the occasion
of his son’s marriage from his maternal
uncle.

b) He owns a house property in Nagpur,
50% of the property is used by him for
his own business and 50% let out for
residential purpose. Rent received from
50% let out portion during the year was

Rs.1,50,000.

[11] [Turn over]
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c) Fire insurance includes Rs.15,000 paid
for house property owned by him

d) Depreciation is computed as per the
Income-tax Rules, 1962,

e) Municipal tax includes Rs.10,000 paid
as tenant.

G e (e |

From the following details, find out the salary
chargeable to tax of Mr, Anand for the
assessment year 2017-18: Mr. Anand is a
regular employee of Malpani Ltd, in Mumbeai.
He was appointed on 01-03-2017 in the scale
of Rs.25,000 - Rs.2,500 - Rs.35,000. He is
paid dearness allowance [which forms part of
salary for retirement benefits) @ 15% of basic
pay and bonus equivalent to one and a half
month’s basic pay as at the end of the year. He
contributes 18% of his salary (basic pay plus
dearness allowance) towards recognized
provident fund and the Company contributes
the same amount. He is provided free housing
facility which has been taken on rent by the
Company at Rs.15,000 per month. He is also

provided with following facilities:

a) The Company reimbursed the medical
treatment bill of Rs.40,000 of his

daughter, who is dependent on him.

[12]
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iif)

b) The monthly salary of Rs.2,000 of a
house keeper is reimbursed by the
Company.

c) He is getting telephone allowance @
Rs.1,000 per month.

d) A gift voucher of Rs.4,700 was given on
the occasion of his marriage anniversary.

e) The Company pays medical insurance

premium to effect an insurance on the
health of Mr. Anand Rs.12,000.
(Motor car running and maintenance
charges of Rs 36,600 fully paid by
employer. [The motor car is owned and
driven by Mr. Anand. The engine cubic
capacity is below 1.60 litres. The motor
car is used for both official and personal
purpose by the employee.)

f)  Value of free lunch provided during
office hours i1s Rs.2,200.

BRG] & (T |

Two brothers Arun and Bimal are co-owners

of a house property with equal share. The

property was constructed during the financial
year 1998-1999. The property consists of
eight identical units and is situated at Cochin.

During the financial year 2016-17, each co-

[13] [Turn over]

owner occupied one unit for residence and the
balance of six units were let out at a rent of
Rs.12,000 per month per unit. The municipal
value of the house property is Rs.9,00,000 and
the municipal taxes are 20% of municipal
value, which were paid during the year.The

other expenses were as follows:

Rs.
Repairs 40,000
Insurance premium (paid) 15,000
Interest payable on loan taken for
construction of house 3,00,000

10(C)

One of the let out units remained vacant for
four months during the year.

Arun could not occupy his unit for six months
as he was transferred to Chennai. He does not
own any other house.

The other income of Mr. Arun and Mr. Bimal
are Rs.2,90,000 and Rs.1,80,000 respectively,
for the financial year 2016-17.

Compute the income under the head ‘Income
from House Property’ and the total income of
two brothers for the assessment year 2017-
18.

B! @ (el |
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Answer any three questions:

MODULE-II
(Marks : 25)
1x3=3

- Toals areg Tex wie ¢

i)

iii)

Filing of return of income on or before due
date is necessary for carry forward of losses.
(State true or false)

FoH (& I Gy Wifere R et sea =oi
wifet w1 i | (3 1 ge)
Advance tax will not be paid if tax payable after

TDS is not more than or equal to Rs.10,000.
(State true or false)

TDS {615 71 2w 1 3w Rs. 10,000 1 11 (1
T IR & 1 @i Fce 209 41 | (B Al
%)

The due date for filing of a return of income

for a company for Assessment Year 2017-18
is

ffiel T2 205 - b Ty (FIPAIT SN T
B wifte s o ol 2 |
An assesse can file a revised return of income
at any time before the completion of
assessment or before expiry
whichever is earlier.

A SIS (1R 2 o d— @R o=
e @AM s B, (1R I MoK Gvert i
AT fRGI Mifet F0S A= |
In case of filing of returns [under
section 139(1)] is compulsory irrespective of

[15] [Turn over]
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Answer any three questions:

whether profit is earned or loss is incurred.

{171 139(1) ST =7 @F A wfe @,
a3 ¥ RO ik 11 Ao |

2x3=6

- Toas vz Tex wie ¢

i)

iif)

State four transactions for which quoting of
PAN is compulsory.

50 @ S F9 @A PAN T 541
LTSI |

According to the provisions of section 194B,

every person responsible for paying any
income to any person any income by way of
winnings from lottery or crossword puzzle or
card game and other game of any sort, is
required to deduct income-tax @
if the amount of payment exceeds

A1 194 B SR #51, FCAT o{feE Afs (A
21 SR AR A, SFLLI & wifrgeiied e
(T2 ST AMICTR T S (AF RIGES|
@06 AR W IR = T N = |

Interest under section is attracted
for non-payment of advance tax or payment
of advance tax of an amount less than

of assessed tax.

wfen T el 4 2e WLl B 9 [Hefire

[16]
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FIEI _ -43 I 28T FIEE 4171

SRS W A 1 =7
iv) Interest under section 234A is attracted for

T 1T 234 A SR 97 412 1 2 |

v)  State the Penalty amount for default in
furnishing of return of income under section
234 F.

o wifke] Face wiias iR T GEI mifde
IR O AIF1 234 F SRR o G ewie
FACO Z(A?

Answer any one question: 6x1=6
@I 9F(5 e Ted e ¢

i)  What is best judgment assessment? State the
situations in which it is applicable. Can the
Assessing officer reduce tax burden in case

of 'best judgment' assessment?

‘Best judgment’ iz F 2 @fb eito crasfem
T 9 | 7 6 “best judgment’ e ¢Fea
IS (SN FIACO AN 2

i1) A return is considered to be a defective return
under section 139(9) unless certain conditions
are fulfilled. State four such conditions. What
is the time limit for rectification of errors in

case of defective return?
[17] [Turn over]

A1 139(9) S FEH0 *16 579l 1 (A GFfo
RO @iboel e o 91 22| 3 *Sfer g
PR * T I @B 4AE g5 TR
TN o a2

8.  Answer any one question: 10x1=10
@~ @F(6 A Ted 7l
1)  Answer both the questions:
i 20 TeR mlS
a) Mr. Gambhir Mitra paid Rs.42,000
together with return. Show the treatment
u/s 140A from following data:
Tax liability Rs.82,000
Interest payable u/s 234A
(as per returned income) Rs.750
Interest payable u/s 234B
(as per returned income) Rs.3,730
Interest payable u/s 234C Rs.1,660
Feeu/s234F Rs.5,000
Advance tax paid Rs1,500
TDS Rs.6,000

10(C)

G e (e |

b)  State the various cases of inquiry before
assessment under section 142 of the
Income tax Act, 1961. 6+4=10

[18]
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BGREE

Find out the amount of advance tax payable by

Mr. A on specified dates under the Income tax

Act, 1961 for the financial year 2016-17:

Business income Rs.2,85,000
Long term capital gain on 31-5-2016 Rs.60,000
Winning from lotteries on 12-6-2016 Rs.50,000
Interest on loan Rs.10,000
Other income Rs.5,000
Investment in PPF Rs.10,000

Tax deducted at source:

Case 1 Rs.28,000
Case 2 Rs.15,000
BRRG! @ (eAl|

10(C) [19]

[Turn over]

Candidates are directed to answer either

Module-1II(A) OR Module-1II(B)

10(C)

MODULE-III(A)
(Marks : 25)

Answer any three question: 1x3=3
@~ foafs aose Ted ais ¢

i)

iif)

Goods and service tax comprise of CGST and
SGST (state true or false).

GST, CGST @3k SGST i a1 | (15 / we)
In case of which do not have
legislature, UTGST will be payable.

-7 (0, A YRR AR @2, @1
¢Fcq UTGST &caley 2d |
In case of supply of goods and
services, there will be integrated GST (IGST).

TE QIR G @IS (F 9

IGST grrey 20 |

Goods and service tax (GST) is a direct tax

(state true or false).

GST «=f erey 34 | (5 / o)

Goods and service tax (GST) is based on value
added tax concept of allowing tax credit (state
true or false).

GST, Y& FEF I (F65-97 T 9ifde |
(= / vo)

[20]
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Answer any three question:

2x3=6

- Toals areg Tex wie ¢

i)

iif)

1v)

v)

Answer any one question:

State two benefits of Goods and service tax
(GST).

GST-7 4l e Tge 74|

GST is levied on supply of all goods and

services except

TG T I QIR FIRAIF TR

GST acares &3 |

Name two indirect taxes which are continuing
in the GST regime.

GST- RFIENE (I 6 A 9 GI9S LSy
O N < |

Central Excise duty will continue on

__and with effect
from 16.09.2016.
@R 4T TR U

T@LEF 3T AT 16.09.2016 (A I3k
AFE |

is the taxable event in GST.
GST-3 FAI9T 9o =57 |
6x1=6

- aFH AT Ted 7S ¢

i)

Write a note on ‘Business’ as stated in section
2(17) of the CGST Act.

CGST i3 411 2(17) Segail G Gof DIt

(TR |
[21] [Turn over]
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Answer any one question:

Write a note on ‘Supply’ as stated in section
7(1) of the CGST Act-.

CGST iz 411 7(1) SR ‘ @isNe= Tl bie
Gl

10x1=10

@@ @FB AT Ted wie ¢

i)

Mahan manufacturers are manufacturers of
machinery. State tax (SGST) and Central tax
(CGST) rate on supply of goods is 9% each.
They sold the goods within India @ Rs.3,500.
They exported goods for Rs.6,500. They
purchased inputs @ Rs.7,000. The State Tax
(SGST) and Central Tax (CGST) rate on inputs
1s 9% each. All these inputs were used in
manufacture of final products. There was no
opening or closing stock of inputs or final

products. Calculate tax payable.
RGN & e |
Janak Traders supplied goods @ Rs.11,500.

Janak Traders received goods valued at
Rs.10,000. The Supplier has charged GST in
his invoice. State tax (SGST) and Central Tax
(CGST) rate on supply of goods is 9% each.
Calculate tax payable by Janak Traders.

G e (e |

[22]
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OR
MODULE-III(B)
(Marks : 25)
Answer any three questions: 1x3=3
@-(Fle TooT6 &os Ted mis ¢
1)  Mention two features of WB VAT Act (2003).

ARSI Y@ 9 B3 (2003) ¥ &Py
ST 9 |

i1)  What is the full form of CST?
CST #jca1 326 F 2
iii) Name one form used in CST.
CST 9NE I G form-«9 w11 4 |

iv)  What is Service Tax?

Service Tax 1 ¢
v)  Inwhich year WB VAT Act was enacted?
(Pl =7 WB VAT Act ble] 2312
Answer any three question: 2x3=6
@-(Fle TooT6 &os Ted mis ¢
1)  What is Inter-State trade?
SgEey T 2
11)  What do you mean by CST Act?
@@ e 39 iz e [F @Rl

iii) Define 'Input Tax'.

T9[5 GG A<=l e |
iv)  Why is VAT also called "Multi-Point Tax"?
[23] [Turn over]

11.

12.

10(C)

VAT-S “Sfe5-2Ta% 397€ &l 22 (1 2
v)  Define "Capital Goods" as per WB VAT Act.

WB VAT 12+ eIt “Capital Goods”-43
AR 7S |

Answer any one question: 6x1=6
@I @36 s e e ¢
1)  Discuss the scope of CST Act.
CST SIiZea #{fHd Sieetivel 541 |
11)  Write short notes on (As per WB VAT Act)
a)  Output Tax

b)  Turnover of Purchases

e Bl 574 (WB VAT Act ST ¢
a) 675 IS
b) TRE R

Answer any one question: 10x1=10

@@ @B At Ted wie ¢

1)  State, in brief, the provisions relating to the
rate of Tax and determination of Turnover
under the CST Act, 1956.

CST Act, 1956 SIS (9 29 @38 Turnover
o Raimaf weweel @12

11)  State the advantages and disadvantages of VAT
System.

TS 9 T (Al € SpYfRiafe] G 34 |

[24]



